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fi;
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fi;
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fi;
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fi;
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fi;
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<cfarget> <cfarget> <cfarget> scfargete>
:RTOS :RT08 :RTOS :RT0S
ask : BasicTask res! : Resource task! : BasicTask 1es1 : Resource task! : BasicTask res! : Resource task! : BasicTask test : Resource
Dmiww: Thigh priority = Rhigh Dnriorw:Thigh rpriority= Rhigh Dpriumy: Thigh rpriority= Rlow |‘_}pri0riﬁ/= Thigh priority = Rlow
Urioriwz Tlow Tpriority= Rhigh L‘mrimm: Tlow Tpriority= Rlow Urioriﬁ/: Tlow tpriority= Rhigh Dlriuriﬁ/: Tlow priority= Rlow
<<fargete> <<fargete> <<fargete> a<targets»
:RT08 :RTOS .RT0OS RT0S
Bpriuriw =Tlow priority = Rhigh I’_}miuriw =Tlow Tpriority = Rhigh I’_}priurih{: Tlow priority= Rlow [‘_:priumy: Tlow Tpriority= Rlow
task? - BasicTask 1es2: Resource task?: BasicTask 1852 Resource task2 : BasicTask 1652 Resource task?: BasicTask tes2: Resource
|—_Itpnuriw: Thigh priority = Rhigh |—_17H0rib/: Thigh priority= Rlow |—_t;‘mariw= Thigh priority = Rhigh Uriorwwz Thigh Tpriority= Rlow
<sfargete> scfargete> <sfargete> <<farget>
.RT0OS RTOS .RTOS RTS8
Bpr\ariw: Tlow Tpriority = Rhigh |'_}prmrib/= Tlow priority = Rhigh I’_}pnariw: Tlow Tpriority = Rlow Dmiorw =Tlow priority = Rlow
task2 : BasicTask 1es2 : Resource task? : BasicTask res2 : Resource task2 : BasicTask 1es2: Resource task?: BasicTask 1es2 : Resource
priority = Rhigh priority= Rlow tpriority= Rhigh Tpriority= Rlow

000000000000 0000 (Task2O O Resource20 00000 D)
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042800 00000000000000000Task,.tpriority = ThighOTasks.tpriority =
ThighO O OO Task;.tpriority = TlowOT asks.tpriority = Tlow O O OO OO0 OTlow <
Thigh << Rlow < Rhigh OO 0O 00O OO Task;.tpriority = ThighO Tasky.tpriority =
Thigh DODOO0D0ODODO0OO0OO0OOO0ODOODO0ODOODOOOODOOOOOODOOOO
000000000000 Resourcey.rpriority = Rhighll Resources.rpriority = Rhigh
0000 Resourcey.rpriority = RlowO Resources.rpriority = Rlow OO O OOOOO
Resourcey.rpriority = RhighU Resources.rpriority = Rhigh OO0 000000 OONO
00000000 bO000DbOo0obOo0obOoooooooooobooooooooa
00000000 DO00D0DOO00O0OO000bO0o0bOOo0o0oDOOooDbOOoOooDbDOoOoooa
000000000000 00D0o@boon

O00000000000000000DO0DOO0000000DO000Task,.priority =
Thighll T'asks.priority = Tlowd Resource;.rpriority = Rhighll Resources.rpriority =
RlowOOOOO00OOO Tasky.priority = TlowOT asky.priority = ThighU Resource,.rpriority =
Rlowl Resources.rpriority = Rhigh OO0 D0 000000000 O0ODOOOOOODOOO
000000000000 000bO00b0bO0o0bO0ooDbOOoooooooooboOoOoooa
00000000000 oooobooooobooobboooobooobooooao
0000000000000 O00000bO000o0oo0oooooooooonoooooa
0000000000000 DO0bO000O0DOooDobO0obOoooODEUoOOn

0000000000000 000DO00000bO0bO0O0OOobO0oooooooooa
00000000000000000000000 30000 TTCompare(tpriority, tpriority)0
RRCompare(rpriority, rpriority)0 T RCompare(tpriority, rpriority) 0 0 0 0 0 O

00 TTCompare(tpriority, tpriority) D0 00000000

o T'T'Compare(tpriority,, tprioritys)
tpriority; == tpriority, 1 0 000 0O 0O
tpriority, < tpriority, 00 1000
tpriority, > tpriority, 0 0 0 2000

00 RRCompare(rpriority, rpriority) 0000000000
e RRCompare(rpriority;, rprioritys)

rpriority; == rpriority, 0 00 00 00
rpriority; < rpriority,00 00 1000
rpriority; > rpriority.J U0 20 0 0

00 TRCompare(tpriority, rpriority) 0000000000
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o T'RCompare(tpriority,, rprioritys)

tpriority; == ThighUOrpriority, == Rhigh D OO0 00 00O
tpriority, == ThighOrpriority; == Rlow 000 1000
tpriority; == TlowOtpriority, == Rhagh O 00O 2000
tpriority, == TlowOtpriority, == Rlow 000 3000

e JO0ODODOODOOO

0000000000000 Task;.tpriorityOTasks tpriority D 00000000
0000 Resourcey.rpriorityld Resources.rpriority U U 0O O O
TTCompare(Task, .tpriority, Tasty.tpriority) O

RRCompare(Resourcey.rpriority, Resources.rpriority) 000000000000
O00000ooooooooooo

e JO0ODODOOOOO®

O000000000000D00O Task;.tpriorityUT asks.tpriority0 OO0 000 OO
O0O0D00OO0 Resourcey.rpriorityld Resourcey.rpriority U 0O 0O U

O00000000000000004 TRCompare(Tasky.tpriority, Resource s .rpriority)
000000000000 DOO00bO0ODOO0oDOoOobOOoOooboOoooDag

042800 0000000000000@QOOOOOOOOODOD UDODODOO
gobbobbboooooobob 432004330000 =00000000000040
goo

goobobobobobooobobobobobbbobodddddoooooooooobboboobooo
oboobgbobobboboobooboob 43400044300 0000000O0
gbooboobuoogobobbuoooobbboooboobobboooobobobooon

e Taskl D0 Resource 00000 2! x20=2=1

Taskl O 0 Resourcel OO0 2! x 2l =4 =1

Taskl O 0 Resource2 0000 2! x 22 =8 =2

Task2 0 0 Resource 10000 22x20=4=2

Task2 0 O Resourcel 0000 (D000 A)22x2'=8=3

Task2 0 O Resourcel 0 000 (D000 B) 22 x 2! =8=2

Task2 0 O Resource20 000 (D000 A)22x22=16=5
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T, —Ry,| (1, Ry, [Ty —R1y,|  [T1.—Ry,

I

T2, —R2,|  [12,—R2,| |T2.—R2| [T2,—R2,
0 0 1 0
00 ° 1l 00 > 0 °

T1,—Ry,| [11,—RYy| [Ty, —Ry,| [T1,—RY

fd

T2, R2, T2, R2, T2, R2, T2, R2,
0 0 0 0 1 0 2 0

TL.—Ry| |14, Ry | [1,—RYy| [T1,—RY

 —

 —
12,—R2|  [12,—R2,| |T2.—R2| [12,—R2,
0 1 0 1 1 1 2 1
Thy—Ry| [T —RY| [T —RLy| [T8,—RY,

 —
T2,—Ry| [12,Ry,| [T2,—R2,| ([12,—R2,
0 ) 0 2 1 2 2 2

TTCompare(T1.tpriority,T2.tpriority) RRCompare(R1.rpriority,R2.rpriority)

0432 000000000@0000000000000000 (Task20 O Resource?
0O00oo0o A)
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T, —Re,|  [Th—RY | |1, RY,

1L

R [2—Ra]  [2—{Ry,
10,0} 0,1} 0.1}

T, —RL,|  [1,Ry|  [T1,—Ry) (T, —RY

= =
= =]
T2, R2,, T2, R2, T2, R2, T2, R2,
{0,2} {02} {0,3} {0,3}
T, —R1,| |74 —{RLy
=
12, —Rr2,| [12.—{R2,
1,2} {12}

{TRCompare(T1.tpriority,R1.tpriority),TRCompare(R2.rpriority,R2.rpriority)}

0433 000000000@0000000000000000 (Task20 O Resource?
000000 A)
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e Task2 00 Resource2 0000 (D000 B)22x22=16= 6
e Task2 00 Resource2 0000 (0O00ODO C)22x22=16=9

e Task2 00 Resource2 0000 (0000 D) 22 x22=16 = 4

==target==
:RTOS

tagkl : BasicTask
tpriority = Thigh

L

0 434: 00000000000 OOOOO0000O0D0OO (Taskl OO Resource O 0O)

=<target==
:RTOS

taskl : BasicTask res1 : Resource

tpriority = Thigh | rpriority = Rhigh

0435 000000000000000000000O0 (Taskl OO Resourcel O)

66



<<targets» <afarget==
:RTOS :RTOS
task! : BasicTask rest : Resource taskl : BasicTask rest : Resource
I‘_}priority: Thigh tpriority = Rhigh Bpriority: Thigh rpriarity = Rhigh
res2 : Resource res2 : Resource
tpriarity = Rhigh rpriority = Rlow

0 436: 00000000000 0000000O0O0O00O0O (Taskl OO Resource20)

=<target=»
= e
taski : BasicTask task1 : BasicTask
tpriority = Thigh tpriority = Thigh
L —
taskd : BasicTask task? : BasicTask
Jpriority = Thigh tpriority = Tlow

0437 00000000000000000000O00O0O (Task2 O O Resource 0 0)
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0438 0000000000000 000O0O0O0O0O0O (Task2O O Resourcel O 00O

000 A)

0439 0000000000000 O00O0O0O0O0OOO (Task2O O Resourcel O 00O

000 B)

tagkl : BasicTask

res! : Resource

u,uriumy: Thigh

task?2 : BasicTask

[ tpriority = Tlow

priority = Rhigh

<<fargets»

RTOS

task! : BagicTask

res1 : Resource

Dprimiw: Thigh

task? : BagicTask

thpriority: Thigh

rpriority = Rhigh

<<farget=»
.RTOS

<=<target=> <<target==»
:RT0S .RTOS
taskl : BasicTask res1 : Resource task! : BagicTagk res1 : Resource
Bpriorit\ﬁ Thigh rpriotity = Rhigh Dpriorily: Tlow rpriority = Rhigh
task? : BasicTask task2 : BasicTask
|: tpriarity = Thigh [ tpriority = Thigh
<=targets=
RTOS

rest : Resource

Dpriority: Thigh

task? : BasicTask
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blpriority: Tlow

rpriotity = Rhigh




task! : BasicTask

res! ; Resource

task! : BasicTask

<fargete» a<fargets»
.RTOS .RTOS
task! : BasicTask rest : Resource task! : BasicTask res! : Resource
Bpriurity: Thigh Tpriarity= Rhigh Dpriority= Thigh rpriarity = Rhigh
task? : BasicTask res2: Resource task? : BasicTask res2 ; Resource
thpriorit\/: Thigh priority = Rhigh Uriuriryc Thigh riority = Rlow
a<fargets» <<farget=»
:RT0S -RT08

res! : Resource

<<fargete»
‘RT0S

task! : BasicTask

res! : Resource

Bpriority:Thigh

task2 : BasicTask

mriotity = Rhigh

1es2: Resource

Dpriuritw Thigh

task? : BasicTask

mtiarity = Rhigh

12 : Resource

BprioriN:Thigh

tagk? : BasicTask

mriority = Rlow

1es2: Resource

Ltpriority =Tlow

rpriority = Rhigh

Uriority:ﬂow

rpriority = Rlow

Uriurity: Tlow

rpriority = Rhigh

0 440: 0000000000000 O0O0O0O0O0OOOO (Task2O O Resource2 000

000 A)
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==farget=» ==target==
:RTOS :RTOS
taskl : BasicTask reg1 : Resource taskl : BasicTask res1 : Resource
l—_t,prioritv= Thigh rpriority = Rhigh [ tpriority = Thigh rpriority = Rhigh
task2 : BasicTask res2 : Resource task2 : BasicTask res2 : Resource
[ tpriority = Thigh rpriority = Rhigh [ tpriority = Thigh rpriority = Rlow
<=target=» «<target=»
:RTOS :RTOS
task1 : BasicTask res1 : Resource taskl : BasicTask res! : Resource
l—_lmriority= Thigh rpriority = Rhigh I—_:prioritv: Thigh rpriority = Rhigh
task2 : BasicTask res2 : Resource task2 : BasicTask res2 : Resource
[ tpriority = Tlow rpriotity = Rhigh I: tpriority = Tlow rpriotity = Rlow
==target== ==target==
:RTOS :RTOS
taskl : BasicTask res1 : Resource taskl : BasicTask res1 : Resource
I__tlpriorily= Tlow rpriatity = Rhigh I: tpriority = Tlow rpriority = Rhigh
task2 : BasicTask res2 : Resource task2 : BasicTask res2 : Resource

I: tpriority = Thigh rpriatity = Rhigh I: tpriority = Thigh rpriotity = Rlow

0441: 0000000000000000000000 (Task20 O Resource2 0 00
000 B)
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tagk! : BasicTask

res! : Resource

taski : BasicTask

rest : Resource

task! : BagicTask

atargets» <afargets> <<fargete>»
:RT0S .RTOS :RT0S
task! : BasicTask res! : Resource taski : BasicTask rest : Resource taski : BasicTask rest : Resource
Dpnom\F Thigh rpriotity = Rhigh Dpriumy: Thigh rpriotity = Rhigh Dpriority: Thigh tpriotity = Rlow
Urimiw: Thigh rpriotity = Rhigh L}tpriomy: Thigh rpriority = Rlow L‘tpriorityz Thigh rpriority = Rhigh
<<fargets» a<targets» <<farget=»
:RTOS .RTOS :RT0S
Dpriority: Thigh rpriority = Rhigh Dpriorit\ﬁ Thigh rpriority = Rhigh L‘tpriorit\/= Thigh rpriority = Rlow
Lmrioriw= Tlow rpriority = Rhigh Ltprtority: Tlow rpriority = Rlow Uriuriﬁc Tlow rpriotity = Rhigh
<<fargets> <<fargets> <<fargets>
:RT0S .RTOS :RT08

res! : Resource

Dnrioritﬁ Tlow

task2 : BasicTask

UrioriN:Thigh

rpriority = Rhigh

res2 : Resource

Bpriority =Tlow

task2 : BasicTask

rpriarity = Rhigh

Uriomy: Thigh

rpriotity = Rhigh

res2: Resource

Ejpriuritv= Tlow

task?2 : BasicTask

rpriarity = Rlow

Lt;iriority =Thigh

rpriotity = Rlow

res2 : Resource

rpriority = Rhigh

0442 0000000000000 00O0O0O0OO0O0O (Task2O O Resource2 000

ooo Q)
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0443: 00 0000000000000 O0O0O0OOOO (Task2O O Resource2 000

000 D)

task! : BasicTask

res1 : Resource

<<fargete= <<targets»
.RTOS :RTOS
taski : BasicTask res : Resource task! : BasicTask res! : Resaurce
Dpriomy:Thigh rpriotity = Rhigh Dprioritvﬂhigh rpriority = Rhigh
task2 : BasicTask res2 : Resource task?2 : BasicTask res2 : Resource
[ tpriority = Thigh rpriarity = Rhigh [ tpriority = Thigh rpriarity = Rlow
<afargets» <<target==
:RTOS :RTOS

task! : BasicTask

res! : Resource

Dpriority: Thigh

task2 : BasicTagk

rpriotity = Rhigh

res2 : Resource

L:prioriN:Thigh

task2 : BasicTask

rpriotity = Rhigh

res2 : Resource

L}Ipriority: Tlow

rpriotity = Rhigh
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4.5 UO0O:0000000

goobobobobobooboobobbbbbbootbodddoooooooooooooonon
gbbogobuogbbboooboobbuoobboobbooboooboobobo
gboboboooobbboogobbobuoooobbbuoobobobooooboo

4.5.1 UO0O:000000000

0 4.380 Task2 0 OResourcel 0 00 O OO AOT asky.priority = ThighOT asks.tpriority =
Tlowl Resourcey.rpriority = Rhigh OO0 0000000000 OOOOOOOOOO0O
ooooob41043000000000000O000DO0OO0DODODODODOODOUODOODO
0000000000 45000000000000000DO000O0O00ODODO0O 460
0o0d

4.5.2 00000000000

4510000 4.380 Task2 0 O Resourcel 000 000 AO Task,.priority = Thighl
Tasky.tpriority = Tlowd Resourcey.rpriority = Rhigh 00000000000 DOO0O
0000000000 000042044000000000000000000000
OooooOg470onoon

4.5.3 UO0:000000000O0O

Doboooooooooooboobooboobuobooooooooooobooobooobogn
obobobooboobooboobuoobo
Dooboboobg4sb4e00000000000O047D00D0O0O0OOOOOO
gboboboboboobooboobuooboobuoobobboobo 480000
Doooooobooboboboboboboboboboboooooooboooboan
OO00o0b0oo0b0490000000DLD0O00O0ODOO TaskOTasksOResourcey 1000
OO000wsOO0D0O030000000000000uwsO obcO0DOOO00OO0OOOODO
ooobdboboboooboobobuooboobobo3sgboboboobobobo
gbobboboobooboobooboobobbobboooobooboobon
Dooboboooobobuoooobobuooooboboooobo4440Db0O0
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045 0000000000000000000 (Task2O OResourcel 000000 AO
Tasky.priority = ThighO Tasksy.tpriority = Tlowd Resourcey.rpriority = Rhigh)

Task;
obf; obf, obf; obf;, obf; obfj obf,
obc; [ T2==SUS - - - - R1==FREE
obc, || T2==RUN | TRUE - - - - R1==FREE
obo, | TZZRUN| FASE | - | S I
T2==RUN - - - - - R1==0CC
obc, - - T2==SUS - - - R1==FREE
obcs - - T2==READY - - - R1==FREE
oo IS N LY o= N N ~...| RIZZFREE |
- - T2==READY| TRUE - - R1==FREE
obc; - - T2==READY| FALSE - - R1==FREE
oy |- |- | T2=sUs |- |To==sUS| - | RI==FREE_
- - T2==READY - FALSE | FALSE | R1==FREE
obcy - - T2==READY - T2==SUS | FALSE | R1==FREE
Task,
obf; obf, obf; obf, obf; obfj obf;
obc; [ T1==SUS - - - - R1==FREE
obc, || TI==RUN | FALSE - - - - R1==FREE
T1==RUN | TRUE - - - - -
o0% RO - T T T RSNG|
obc, - - T1==SUS - - - R1==FREE
obcs - - T1==READY - - - R1==FREE
0BGq [lremmmmemmmmcfemeeemen e LEEOUS " i ~....J.RIZZFREE |
- - T1==READY| FALSE - - R1==FREE
obc; - - T1==READY| TRUE - - R1==FREE
R U S W L 20 T | T1=SUs | - | RI==FREE |
- - T1==READY - FALSE | FALSE | R1==FREE
obcg - - T1==READY - T1==SUS | FALSE | R1==FREE
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0 46: 000000000000 OOOODOO (Task20 O Resourcel 000000 AO
Tasky.priority = ThighO Tasks.tpriority = Tlowd Resourcey.rpriority = Rhigh)

Resource;
Obﬂ Obfz Obfs Obf4
obc; |[T1==RUN - - -
TIZRUN N i FALSE |
obc, | T1==RUN| T2==READY | TRUE | TRUE
T1==RUN[ T2==SUS - TRUE
obc, |[T1==RUN| T2==READY | FALSE TRUE

0 47 00000000000 O0OO00O0O (Task2 O 0OResourcel OO OO0 AO
Tasky.priority = ThighUO Tasks.tpriority = Tlow Resource,.rpriority = Rhigh]

Task, Task,

YOb YS YOb YS
oby, T2 | READY oby, T1 READY
oby, T2 RUN oby, T1 RUN
oby; T2 RUN oby; T1 RUN
oby, T2 RUN oby, T1 RUN
obys || Null - obys [ Null -

Resource;

YOb YS

oby; Null -

5



0 48 0000000000000O (Task2 O OResourcel 000000 AD
Tasky.priority = ThighO Tasks.tpriority = TlowOd Resourcey.rpriority = Rhigh)
0b.S 0b0 0bC ObY 0b.S
Task;:SUS ActivateTask(T1) 2==5US && R1==FREE && R2==FREE Null TaskRUN
Task;:SUS ActivateTask(T1) ~ |FALSE (T2 READY) | Task;:RUN
Task;:SUS ActivateTask(T1) 2==RUN || (R1==0CC || R2==0CC) Null Task,:READY
Task;:RUN TerminateTask(T1)  [T2==SUS && R1==FREE && R2==FREE Null Task;:SUS
Task;RUN TerminateTask(T1)  |T2=READY && R1==FREE && R2==FREE (T2,RUN)  |Task;:SUS
Task;:RUN ChainTask(T1) 2==SUS && R1==FREE && R2==FREE Null Task;:RUN
Task;:RUN ChainTask(T1) T2==READY && R1==FREE && R2==FREE (TZRUN)  |Task;:READY
Task,:RUN ChainTask(T2) T2==SUS && R1==FREE && R2==FREE (T2RUN)  [Task;:SUS
Task,:RUN ChainTask(T2) FALSE - Task;:SUS
Task,SUS ActivateTask(T2) ==3US && R1==FREE && R2==FREE Null TaskRUN
Tasky:SUS ActivateTask(T2)  |FALSE (T2 READY) | Task;:RUN
Task,:SUS ActivateTask(T2) ==RUN || (R1==0CC || R2==0CC) Null Task,READY
Task,:RUN TerminateTask(T2) ==SUS && R1==FREE && R2==FREE Null Tasky:SUS
TaskyRUN TerminateTask(T2)  [T1==READY && R1==FREE && R2==FREE (TI,RUN) |Task,SUS
TaskyRUN ChainTask(T2) ==SUS && R1==FREE && R2==FREE Null TaskyRUN
TaskyRUN ChainTask(T2) ==READY && Ri==FREE && R2==FREE (TIRUN) |TaskyREADY
Tasky:RUN ChainTask(T1) T1==SUS && R1==FREE && R2==FREE (TIL.RUN)  [Tasky:SUS
Task,RUN ChainTask(T1) FALSE - Tasky:SUS
Resource;FREE |GetResource(R1) ==RUN || T2==RUN Null Resource;.0CC
Resource; 0CC |RelseaseResource(R1|T1==RUN && (R2 ==0CC || (R2==FREE && (T2==READY || T2==SUS))) ||
2==RUN && (R2 ==0CC || (R2==FREE && (T1==READY || T1==SUS))) |Null Resource; FREE
Resource;O0CC |RelseaseResource(R1)FALSE - Resource, FREE
Resource, FREE |GetResource(R2) ==RUN || T2==RUN Null Resource,0CC
Resource,0CC  |RelseaseResource(R2|T1==RUN && (R2 ==0CC || (R2==FREE && (T2==READY || T2==SUS))) ||
T2==RUN && (R2 ==0CC || (R2==FREE && (T1==READY || T1==SUS))) [Null Resource, FREE
Resource,OCC |RelseaseResource(R2)FALSE - Resource,FREE
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049 0000b00o0booooboon

us

us

Task, [Task, |Res; 0b0 ObC R Task, | Task,|Res;
SUS [SUS [FREE|ActivateTask(T1) T2==SUS && R1==FREE O RUN [SUS |FREE
ActivateTask(T1) T2==RUN && R1==FREE
ActivateTask(T1) T2==RUN || R1==0CC
ActivateTask(T2) T1==SUS && R1==FREE O SUS |RUN |FREE
ActivateTask(T2) FALSE
ActivateTask(T2) T1==RUN || R1==0CC
GetResource(R1) T1==RUN
RUN [SUS |FREE|TerminateTask(T1) T2==SUS && R1==FREE O SUS [SUS |FREE
TerminateTask(T1) T2=READY && R1==FREE
ChainTask(T1) (T2==SUS || T2==READY) && R1==FREfO |RUN [SUS |FREE
ChainTask(T1) FALSE
ChainTask(T2) T2==SUS && R1==FREE SUS |RUN |FREE
ChainTask(T2) FALSE
ActivateTask(T2) T1==SUS && R1==FREE
ActivateTask(T2) FALSE
ActivateTask(T2) T1==RUN || R1==0CC O |RUN [READ|FREE
GetResource(R1) T1==RUN O |RUN |[SUS |OCC
SUS [RUN |[FREE|ActivateTask(T1) T2==SUS && R1==FREE
ActivateTask(T1) T2==RUN && R1==FREE O RUN |READ|FREE
ActivateTask(T1) T2==RUN || R1==0CC
TerminateTask(T2) T1==SUS && R1==FREE O |[SUS [SUS |FREE
TerminateTask(T2) T1==READY && R1==FREE
ChainTask(T2) T1==SUS && R1==FREE O SUS |RUN |FREE
ChainTask(T2) T1==READY && R1==FREE
ChainTask(T1) T1==SUS && R1==FREE O RUN [SUS |FREE
ChainTask(T1) FALSE
GetResource(R1) T1==RUN
RUN [READYFREE|TerminateTask(T1) T2==SUS && R1==FREE
TerminateTask(T1) T2=READY && R1==FREE O SUS |RUN |[FREE
ChainTask(T1) (T2==SUS || T2==READY) && R1==FREfQO |RUN |READ|FREE
ChainTask(T1) FALSE
ChainTask(T2) T2==SUS && R1==FREE
ChainTask(T2) FALSE
GetResource(R1) T1==RUN O |RUN |READ|OCC
RUN [SUS |OCC |TerminateTask(T1) T2==SUS && R1==FREE
TerminateTask(T1) T2=READY && R1==FREE
ChainTask(T1) (T2==SUS || T2==READY) && R1==FREE
ChainTask(T1) FALSE
ChainTask(T2) T2==SUS && R1==FREE
ChainTask(T2) FALSE
ActivateTask(T2) T1==SUS && R1==FREE
ActivateTask(T2) FALSE
ActivateTask(T2) T1==RUN || R1==0CC O |RUN [READ|OCC
RelseaseResource(R1)[T1==RUN && (T2==READY || T2==SUS)|O |RUN [SUS |FREE
RelseaseResource(R1)[FALSE
RUN [READYOCC |TerminateTask(T1) T2==SUS && R1==FREE
TerminateTask(T1) T2=READY && R1==FREE
ChainTask(T1) (T2==SUS || T2==READY) && R1==FREE
ChainTask(T1) FALSE
ChainTask(T2) T2==SUS && R1==FREE
ChainTask(T2) FALSE
RelseaseResource(R1)|T1==RUN && (T2==READY || T2==SUS)[O |[RUN |READ|FREE

RelseaseResource(R1)

FALSE

7




(Task1.5,Task2 5 Resourece.8)
Task! tpriority=Thigh
Task2 tpriority=Tlow
Resourcet.mriofity=Rhigh [ TerminateTaskitask1 fid) ( (3USPENDED SUSPENDED FREE)

I TerminateTask(task?2 fid)

| ActivateTaskitask2 tid)

| ActivateTaskitask! tid) \

| ChainTask(task2 fid, task2 fid)

I ChainTask{task1 tid, task2 tid) p

[ (RUNNING, SUSPENDED,FREE) (SUSPENDED,RUNNING FREE)

I ChainTask(task? tid, task1 tid)

4 | ChainTask(task2 tid, task1 tid) \ )

| ActivateTaskitask? fid)

| GetResource | ActivateTaskitask2 tid)

(task1 tid, res.rid)

{ReleaseResaurce
{task tid, res.rid)

I TerminateTask{task1 fid)

(RUNNING,SUSPENDED,0CCUPIED) [ (RUNNING READY FREE) ]

{ GelResouce I ChainTask(task1 tid, task1 tid)

(task1 tid, res.rid)
| ActivateTaskitask2 tid)

I ReleaseResaurce
{task! tid, res.rid)

[ mowwncResvoccurED) |

0 444 DO0O0D0OO0OODODOODOOOO (Task2 OO Resourcel D OO0 00O AO
Tasky.priority = ThighO Tasks.tpriority = Tlowd Resourcey.rpriority = Rhigh)
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4.6 [0 :Promelall[]

044400000000000000000000000O 4100000000000
OO0Promela0 000000000 4450000

o )
active proctype T2_R1_A_HLH(){

SUS_SUS_FREE:
if
::ActivateTask(_taskl._tid) -> goto RUN_SUS_FREE;
::ActivateTask(_task2._tid) -> goto SUS_RUN_FREE;
fi;

RUN_SUS_FREE:
if
: :TerminateTask(_taskl._tid) -> goto SUS_SUS_FREE;
::ChainTask(_taskl._tid, _task2._tid) -> goto SUS_RUN_FREE;
::ActivateTask(_task2._tid) -> goto RUN_READY_FREE;
: :GetResource(_taskl._tid, _resl._rid) -> goto RUN_SUS_OCC;
fi;

SUS_RUN_FREE:

if

: :TerminateTask(_task2._tid) -> goto SUS_SUS_FREE;

: :ChainTask(_task2._tidk _taskl._tid) -> goto RUN_SUS_FREE;
::ActivateTask(_taskl._tid) -> goto RUN_READY_FREE;
fi;

RUN_SUS_Q0CC:
if
::ActivateTask(_task2._tid) -> goto RUN_READY_OCC;
: :ReleaseResource(_taskl._tid, _resl._rid) -> goto RUN_SUS_FREE;
fi;

RUN_READY_FREE:
if
::TerminateTask(_taskl._tid) -> goto SUS_RUN_FREE;
: :GetResource(_taskl._tid, _resl._rid) -> goto RUN_READY_OCC;
fi;

RUN_READY_0OCC:
if
: :ReleaseResource(_taskl._tid, _resl._rid) -> goto RUN_READY_FREE;
fi;

}

N J

O 4.45: Promela0 00000 OO0OOO
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4.7 0000

PromelaD0 00000000000 OSEK/VDXOOODOOOOOODOODOOOOOO
odg 3120000000 00b0b0bobooboboobobo20000100
gboobuogbbodbooobogugboooboobbuoobboobobobod
gbbogbobboodbbboodbiblessertDOOO0OODOOODOO0OOOOODOOO
OO00000000000D00D0D0ODO GetTaskState 0 GetDPriority U 0D OO OO
gbodgbboobuodboobbodoboobboobooobbooboobbod
OO00O00DO00ooOobOoOooD2000 Promela0 000000 0ODOOOOOOOODOO
gbodgbboobuodbboobobuoobbobobodoboobbooboobbod
gbobobuoooobbooodgb s120b0bogoobbooooboboboooobn

ogbooboob 4460000

7% Verification Output ol
Search for. ﬂ

| (Spin Version 5.1.2 ~ 22 November 2007)
+ Partial Order Reduction

Full statespace search for:
never claim - (not selected)
assertion violations +
cycle checks - (disabled by -DSAFETY)
invalid end states  +

m

State-vector 392 byte, depth reached 54, errors: 0
92 states, stored
10 states, matched
102 transitions (= stored+matched)
0 atomic steps
hash conflicts: 0 (resolved)

2501 memory usage (Mbyte)

~ unreached in proctype task2_resource1_A_HL_H

Savein: | .out E%‘

0 446: D000 (ODOOODO)

gbbbodbogobbooboobbooboobbobobuooboobboobo
O00000044700000000000000 GetResowrceU OO DOODOODOODO
gbbbuoodgbobboooobbbuooobbboood

oooobooob 4480000
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* id:0J 0 Q0Q0dgnono Ibp

* rid: 0000 ID

*/

inl%ne _GetResource(id,rid){

i

(rid < 0) || (N_RES - 1 < rid) ->
ercd = E_0S_ID;
ErrorHook

. else —>

if

:: res[rid] .exist_flag ->
get_index_state(id);
if
:: ret_ix == NOINDEX ->

LibErrorHook("Cannot find task index\n")

11 else —>
if
:: tsk_state[ret_ix].tstat == READY ->

deq_prio(tsk_statel[ret_ix] .dpriority, id);

eng_prio(res([rid] .rpriority, id);

/ 00000000000 0Db0bDOoOoboOoooogs/

if

:: tsk_state[ret_ix] .dpriority < res[rid].rpriority ->

/*  tsk_statel[ret_ix] .dpriority = res[rid].rpriority x*/

11 else

fi;

res[rid] .rtask = id

:: else —>
LibErrorHook("Task calling GetResource is not in READY or R
fi
fi
11 else >
ercd = E_0S_ID;
ErrorHook
fi
fi

UN.\n")

0447 000000000000 0O0ODOO GetResource
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7% Verification Output (o [@=s
Search for; Find
2 pan: assertion violated (((_rtos._task1State==2)&&(turn==_task1._tid))&&(_rtos._task2State==1)) (at depth 17)
pan: wrote pan_in.trail
=| (Spin Version 5.1.2 - 22 November 2007)
Warning: Search not completed
+Partial Order Reduction
Full statespace search for:
never claim - (not selected)
assertion violations +
cycle checks - (disabled by -DSAFETY)
invalid end states  +
State-vector 392 byte, depth reached 17, errors: 1
18 states, stored
0 states, matched
18 transitions (= stored+matched)
0 atomic steps
hash conflicts: 0 (resolved)
~ 2501 memory usage (Mbyte)
Savein: | .out M Close

0 448: 0000 (ODOOODO)

4.8 0OOOOO

gboobgobooboobobooboobobbooboobobboboobon
Dooboboooboobob200b02000000 DbOb00bOobOobLOo0bOoDo
Joodl70DoO0000dobbbD 3Ix3x2x2=3600000000000000
gbogobuodgbbooooboobobboobbooboooboobboobood
goboobgoboobooboob

OSEK/VDXOOOODODDOOOOOOODOO0ODOoOooooooooooooooooo
410000boo0boboobobobboboboo20b0obbooboboboobo
gbogbobuodgbboboooooobobuoobbooboooboobboobood
gboooobogobooobobobobobboobooobooobobooooboo
gbodbbooboogobuoobboobboobobuoobbooboboobooobo
goboboooobobooooboboboooobobobbbooooobboooobobo
gbogbobuogbbodoboobobuoobbuooboooboobbuoobobobn
googbboobodbboobobooboobbooboobboobooobbon
gbobboooobbbuoooobobbuoooobbbuoooobbodao

gobodbogobuoobobobooobboooboobboobooboboooboo
gboboggboogoboouoobobbuoobbuobdobboobboobobogbon
goboogobuogobobboobobuogobobbooobbooobobobboon
gboogobuogbbodgbbodboouobboobbooboooboobban
gboogobodbbooobobogbbboobbodbooobuoobbooboo
gbogbobodbooobuoobboobuoobboouooobobuoobbooboo
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0 410: 0000000000000 00000O0O00O0O0O00 (OSEK/VDXOOO)

goo g gobooo goboboooodgobon
obog (0b0 (gbgobooboo gboooboobon

1 0 2 1

1 1 8 1

1 2 32 2

2 0 4 2

2 1 32 )

2 2 256 24

gbobogobuobodbooobooobuoooobooobooboboobboobo
gbuodgbboodboobboobuoobboboboobobobbooboobbod
gbobogobuogbbdodoobooobuoobboobbouooboboobboobo
gboodgbbbodboobboobuoobboobodoboobbooboobbod
0000000000000 0000000000 OSEK/VEDOOODOODOOOOOO
gbogbobuodgbdboouobboobbooobogboobooboboobbod
goobobobgbobooboboobbuoobbuoobboobbuoobbooooba
gbuodgbboobuodgboobobuobbobobooboobbooboobbod
gobobooogoboobod
gboudgbbooboobooobuoobboobuoobbogboobbodoboo
gbobogudgbbogbooobuogbobuooooboobobuoobboobobobod
gbogbobodbooobudbbbtdlessertD000ODODO0O0OOODODOOOOOO
gbobogodbboobooboobboobboobooobooboboobboobo
gbbbuoooobbbuoobbboooobboboood
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st o

5.1 OOOOOO

gboudgbbodbogbbuoobboobuoobbouoobbuodgbooooboo
gbobobog200b00040d

gbouodgboobbodbbouoobbooboobboobuooboobbodoboo
gbobogobouogbgbogobogoobbooboooooobobouoobboobon
gboog2b0ogbobuogbbuoobbudbooooboooboobboobboaon
gboogobuogodbooobuogbobuogbboobobuoobboobobobad
gbogbobuogbobobuoobbooboboobbuoobbobuoobbodoboo
gboogobuodgbbodgbobuogbobuoobobobboobooobuoobobod
gboggbodgbubuogbbodbbodgbbooboouoobooboboobo
OOO0ODSPINODOODOUODOD PromelaD 000000 ODODOOOOODOODO

gobobobbbbbbbbbbbbbooboouuououuuooooooooobon
gboboggbogobuoobobubodbbogboooboooboo2b00boad
gbobobooogon

00000 OSEK/VDXODOODODOoOoOooOoooooooooooooooooooo
gbbobuoogobbboooobbob

5.2 U0OOOO

goodgbobobuoobooobuoobboobuoobbogboobbooboo
goobooooobooboobbuoobboobboobboobboobboobo
gbogbogobooboboobbuoobobbuoobboobbboboobbogbn
goobboobbobuooobooobooobooobobbobooobobobo
gboogobogbobuoooboobobuoobbuoobboobobbbboobood
20000 200bbbooooboboboooobobobo3gooobbbooooboboD
gbobobobuoooobobbiliooog20bba3buogg3ggobooboooan
010 RUNNINGODOODO 200 READYODOUODOODO OO O TerminateTask O O O
OO00O0DbO0o000 10 SUSPENDEDOOOODOODOODO200003000000
OO000000 SUSPENDEDOOODOOOO RUNNINGOOODOODODOMmMGODO 2
O00003000000000000 READYODDOOODOOODDO RUNNINGOO
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gboobodbboboboobbooobbuoobbuooobobbobboobbonboo
gboboboooobbobuoogon
goobodz222402000000000000000000000O0O0O0O0OOO0O0O
oboobooooboboboboboboobobobooboboobob UMLO
gooooobbobbobbbbbboobodddoodooooooooooooon
gbbbuoooobbboooobbboooobobbuoobbbooogn
OO000000O00oOOobO0OO0bOOoOoboobooRrTOSOODOODOOODbDObOODOO
gbogobuodgbbodboobobuobobuoboobbooboobobuoobobod
gobboogobbobuoooobobooo
gbouogbobuodgbbodbboougbbuoobbodgbboobobuoobbodo
gboogobuodgbbgdbooobuoobbuodbooooboooobuoobobod
gbobbuooogbboobbbooogbbbuoooobbbuoooobobbooon
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BN

gbooboobboodgbbto bboodbbugo oobbooobbboobao
googobudgbbgdbooobuoooobbooboooboobbuooboon
gbbobuoog bbuogobbbuoooobbbuoooobboaon

gobogobobuobobooogbbooobbboobb ob oobboooboboo
OoooooooOOo0o0oobooobboo0o0oobobooooooboboOoOogn Chaiwat
Sathawornwichit D 0 0000000 0OO0OOO DOoOOOOODOOOOOobObOODbOO
gooob

gogduoguobbobodoouobbobooouoboboooooubobobbboo

Defago DO DO ODOOOOOOOOODOODODO
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oy

1] 0OO00,SPINO0OOOOD O0DQ0OO0ODOOOOO,00000, 2008.

2) 0000 0000 0000 0000 00, SPINODOOOOOOODOD,0000
0 ,2008.

3] O0O0OO,0000000000:000000000 2, 2008.
[4]  http://portal.osek-vdx.org/.

5) HE.0OOOOO M.OOO0OO 00 0000 000 00000, UMLOOOOO
0,00000000, 1998.
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O O0A 0000

O Al: J0000O00OO0D0O0O00O0O (Taskl OO Resource O O O Task;.priority =
Thigh)

0B.S 0B.0 OBC  [0BY  [OBS
Task;:SUS  |ActivateTask(T1) |TRUE  |Null Task;:RUN
Task;:SUS |ActivateTask(T1) [FALSE |- TaskRUN
Task;:SUS  |ActivateTask(T1) |FALSE  |Null Task;READY
Task:RUN |TerminateTask(T1) [TRUE  |Null Task,:SUS
Task;:RUN |TerminateTask(T1) |FALSE |- Task;:SUS
Task;:RUN [ChainTask(T1) TRUE  |Null Task;:RUN
Task;RUN |ChainTask(T1) ~ [FALSE |- Task;:READY
Task;:RUN |ChainTask(T2) FALSE |- Task;:SUS
Task;RUN |ChainTask(T2)  [FALSE |- Task;:SUS
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0 A2 0000000000000O0 (TasklO OResourcel 0 OT ask;.priority = ThighO
Resourcey.rpriority = Rhigh)

OB.S 0B.0 OBC OBY OB.S
Task.:SUS ActivateTask(T1) TRUE Null Task;:RUN
Task,:SUS ActivateTask(T1) FALSE - Task;:RUN
Task:SUS ActivateTask(T1) FALSE Null Task;:READY
Task;:RUN TerminateTask(T1)  |TRUE Null Task;:SUS
Task:RUN TerminateTask(T1)  |FALSE - Task;:SUS
Task;:RUN ChainTask(T1) R1==FREE  |Null Task;:RUN
TaskcRUN  [ChainTask(T1) FALSE - Task:READY
Task;RUN ChainTask(T2) FALSE - Task;:SUS
Task;RUN ChainTask(T2) FALSE - Task;:SUS
Resource, FREE |GetResource(R1) T1==RUN Null Resource, 0GC
Resource; OCC  [RelseaseResource(R1) |T1==RUN Null ResourceFREE
Resource;OCC  [RelseaseResource(R1) [FALSE - Resource, FREE

0A3:00000000000000 (Taskl O OResource2d OT ask;.priority = ThighU
Resourcey.rpriority = RhighQ Resources.rpriority = Rhigh)

0B.S 0B.O OBC OBY 0B.S
Task,:SUS ActivateTask(T1) (R1==FREE && R2==FREE) |Null Task:RUN
Task;:SUS ActivateTask(T1) FALSE - Task;:RUN
Task;:SUS ActivateTask(T1) FALSE Null Task;:READY
Task;:RUN TerminateTask(T1)  [(R1==FREE && R2==FREE) |Null Task,:SUS
Task:RUN TerminateTask(T1)  |FALSE - Task:SUS
Task;:RUN ChainTask(T1) (R1==FREE && R2==FREE) |Null Task;:RUN
Task,:RUN ChainTask(T1) FALSE - Task;:READY
Task;:RUN ChainTask(T2) FALSE - Task;:SUS
Task;:RUN ChainTask(T2) FALSE - Task:SUS
ResourceFREE [GetResource(R1) T1==RUN Null Resource,.0CC
Resource;.0CC (RelseaseResource(R1) |T1==RUN Null Resource,.FREE
Resource.0CC |RelseaseResource(R1) |[FALSE - ResourceFREE
Resource, FREE |GetResource(R2) T1==RUN || T2==RUN Null Resource, 0CC
Resource;OCC  |RelseaseResource(R2) |T1==RUN Null Resource,FREE
Resource,OCC |RelseaseResource(R2) |FALSE - Resource,FREE
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0 A4: 0000000 ODOOOO0O (Task2 OO Resource O O O Tasky.priority =
ThighQO Tasksy.tpriority = ThighO Resource;.rpriority = Rhigh)

OB.S OB.O OBC OBY OB.S
Task,:SUS ActivateTask(T1) T2==SUS Null Task;:RUN
Task,:SUS ActivateTask(T1) FALSE (T2,READY)|Task;:RUN
Task,:SUS ActivateTask(T1) T2==RUN Null Task:READY
Task;:RUN  |TerminateTask(T1) T2==SUS Null Task;:SUS
Task;:RUN TerminateTask(T1) T2=READY (T2,RUN) |Task;:SUS
Task;:RUN ChainTask(T1) T2==SUS Null Task:RUN
Task;:RUN ChainTask(T1) T2==READY (T2,RUN) |Task;:READY
Task,:RUN ChainTask(T2) T2==SUS (T2,RUN) |Task:SUS
Task:-RUN  [ChainTask(T2) FALSE - Task;:SUS
Task,:SUS  |ActivateTask(T2) T1==SUS Null Task;:RUN
Tasky:SUS  |ActivateTask(T2) FALSE - Task;:RUN
Task,:SUS ActivateTask(T2) T1==RUN Null Task,;READY
Tasky:RUN  |TerminateTask(T2) T1==SUS Null Task,:SUS
Tasky:RUN  |TerminateTask(T2) T1==READY (T1,RUN) |Task,:SUS
Task,:RUN ChainTask(T2) T1==SUS Null Task,:RUN
Tasky:RUN ChainTask(T2) T1==READY (T1,RUN) |Task,READY
Tasky:RUN  |ChainTask(T1) T1==SUS (T1,RUN) |Tasky:SUS
Task,;:RUN  |ChainTask(T1) FALSE - Task,:SUS
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O A5 O0D0OOO0O0OOO0D0OO0O0O (Task2 OO Resource O O O Tasky.priority
ThighO Tasks.tpriority = TlowO Resourcey.rpriority = Rhigh)

OB.S 0B.0 OBC OBY OB.S
Task;:SUS  |ActivateTask(T1) [T2==SUS Null Task;:RUN
Task;:SUS  |ActivateTask(T1)  |T2==RUN (T2,READY)|Task;:RUN
Task;:SUS  |ActivateTask(T1)  |FALSE Null Task:READY
Task;:RUN  |TerminateTask(T1) |T2==SUS Null Task;:SUS
Task;:RUN  [TerminateTask(T1) |T2=READY (T2,RUN) [Task;:SUS
Task:RUN  |ChainTask(T1) T2==SUS || T2==READY  [Null Task,:RUN
Task;:RUN  [ChainTask(T1) FALSE - Task;:READY
Task:RUN  |ChainTask(T2) T2==SUS (T2RUN) |Task;:SUS
Task:RUN  |ChainTask(T2) FALSE - Task;:SUS
TaskySUS  |ActivateTask(T2)  |T1==SUS Null Task;:RUN
Task,;:SUS  |ActivateTask(T2)  |FALSE - Task;:RUN
Tasky:SUS  [ActivateTask(T2)  [T1==RUN Null Task,READY
Task,RUN  |TerminateTask(T2) |T1==SUS Null Task,;:SUS
TaskyRUN  [TerminateTask(T2) |T1==READY (T1,RUN) |Task,:SUS
TaskyRUN  |ChainTask(T2) T1==SUS Null Tasky:RUN
TaskyRUN  [ChainTask(T2) T1==READY (T1,RUN)  [TaskyREADY
TaskyRUN  |ChainTask(T1) T1==SUS (T1,RUN) |TaskySUS
Task,RUN  [ChainTask(T1) FALSE - Tasky:SUS
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O A.6:

0000000000 0000 (Task2 OOResourcel 000000 BO

Tasky.priority = ThighO Tasksy.tpriority = ThighO Resourcey.rpriority = Rhigh)

0B.S 0B.O0 0OBC OBY OB.S
Task,:SUS ActivateTask(T1) T2==SUS && R1==FREE Null Task;:RUN
Task;:SUS ActivateTask(T1) FALSE (T2,READY) |Task;:RUN
Task;:SUS ActivateTask(T1) T2==RUN || R1==0CC Null Task;:READY
Task;:RUN TerminateTask(T1)  [T2==SUS && R1==FREE Null Task,:SUS
Task;:RUN TerminateTask(T1)  |T2=READY && R1==FREE  |(T2,RUN) |[Task:SUS
Task;:RUN ChainTask(T1) T2==SUS && R1==FREE Null Task;:RUN
Task;:RUN ChainTask(T1) T2==READY && R1==FREE [(T2,RUN) |Task;:READY
Task;:RUN ChainTask(T2) T2==SUS && R1==FREE (T2RUN)  [Task;:SUS
Task;:RUN ChainTask(T2) FALSE - Task;:SUS
Task,:SUS ActivateTask(T2) T1==SUS && R1==FREE Null Task;:RUN
Task,:SUS ActivateTask(T2) FALSE (T2,READY) [Task;:RUN
Task,:SUS ActivateTask(T2) T1==RUN || R1==0CC Null TaskyREADY
Task,:RUN TerminateTask(T2) [T1==SUS && R1==FREE Null Task,:SUS
Tasky:RUN TerminateTask(T2)  |T1==READY && R1==FREE |(T1,RUN) [Task,:SUS
TaskyRUN ChainTask(T2) T1==SUS && R1==FREE Null Task,:RUN
Task,:RUN ChainTask(T2) T1==READY && R1==FREE |(T1,RUN) |Task,:READY
Task,:RUN ChainTask(T1) T1==SUS && R1==FREE (T1,RUN)  |TaskySUS
Tasky:RUN ChainTask(T1) FALSE - Task,:SUS
Resource; FREE |GetResource(R1) T1==RUN || T2==RUN Null Resource; 0CC
Resource;0CC |RelseaseResource(R1)T1==RUN || T2==RUN Null Resource; FREE
Resource;.OCC |RelseaseResource(R1)FALSE - Resource;FREE
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0O A7 0000DDDO0O0O0O0ODOO (Task2 O OResource2 000000 AQ

Tasky.priority = ThighO Tasks.tpriority = Tlowd Resourcey.rpriority = RhighUO

Resourcey.rpriority = Rhigh)
0B.S 0B.0 OBC OBY 0BS
Task;:SUS ActivateTask(T1) ==SUS 8& (R1==FREE && R2==FREE) Null Task;:RUN
Task:SUS ActivateTask(T1) ==RUN && (R1==FREE && R2==FREE) (T2 READY) Task;RUN
Task,:SUS ActivateTask(T1) ==RUN && (R1==0CC || R2==0CC) Null Task,;READY
Task;:RUN TerminateTask(T1) T2——SUS 8& (R1==FREE && R2==FREE) Null Task;.SUS
Task;:RUN TerminateTask(T1)  [T2=READY && (R1==FREE && R2==FREE) (T2RUN) Tasky:SUS
Task;:RUN ChainTask(T1) 2==SUS || T2==READY) && (R1==FREE && R2==FREE)|Null Task;RUN
Task;:RUN ChainTask(T1) FALSE (T2 RUN) Task;:READY
Task;:RUN ChainTask(T2) T2==SUS && (R1==FREE && R2==FREE) (T2RUN) Task;:SUS
Task;:RUN ChainTask(T2) FALSE - Task;:SUS
Task,:SUS ActivateTask(T2)  [T1==SUS && (R1==FREE && R2==FREE) Null Task,RUN
Task,:SUS ActivateTask(T2)  |FALSE (T2READY) Task;RUN
Task,:SUS ActivateTask(T2)  [T1==RUN Null Task,READY
Tasky:RUN TerminateTask(T2)  [T1==SUS && (R1==FREE && R2==FREE) Null Task;:SUS
TaskyRUN TerminateTask(T2)  [T1==READY && (R1==FREE && R2==FREE) (T1,RUN) Tasky:SUS
Task,RUN ChainTask(T2) T1==SUS && (R1==FREE && R2==FREE) Null TaskyRUN
Task,RUN ChainTask(T2) T1==READY && (R1==FREE && R2==FREE) (T1,RUN) Task,READY
Task,:RUN ChainTask(T1) T1==8US && (R1==FREE && R2==FREE) (T1,RUN) Tasky:SUS
TaskyRUN ChainTask(T1) FALSE - Tasky:SUS
Resource; FREE |GetResource(R1)  |T1==RUN Null Resource; 0CC
Resource.0CC  |RelseaseResource(R1]T1==RUN && (R2==0CC || (T2==READY && R2==FREE)) |Null Resource FREE
Resource;.OCC |RelseaseResource(R1]FALSE - Resource; FREE
Resource,FREE |GetResource(R2)  |T2==RUN Null Resource, 0CC
Resource,OCC  |RelseaseResource(R2{T2==RUN && (R2 ==0CC || T1==SUS) Null Resource, FREE
Resource,0CC  [RelseaseResource(R2|T2==RUN && T1==READY && R1==FREE (T1,READY){T2,RUN) |Resource,FREE
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0O A8 00000000000000 (Task2 O0Resource2 000000 DO

Tasky.priority = ThighUO Tasky.tpriority = Thighld Resourcey.rpriority = Rhighl

Resourcey.rpriority = Rhigh)
0B.S 0B.O 0BC OBY 0BS
Task;:SUS ActivateTask(T1)  |T2==SUS && R1==FREE && R2==FREE Null Task;:RUN
Task;:SUS ActivateTask(T1)  |FALSE (T2 READY) |Task;:RUN
Task;:SUS ActivateTask(T1) 2==RUN || (R1==0CC || R2==0CC) Null Task;:READY
Task;:RUN TerminateTask(T1)  [T2==SUS && R1==FREE && R2==FREE Null Task;:SUS
Task;:RUN TerminateTask(T1)  [T2=READY && R1==FREE && R2==FREE (T2.RUN)  |Task;:SUS
Task:RUN ChainTask(T1) T2==SUS && R1==FREE && R2==FREE Null Task;:RUN
Task:RUN ChainTask(T1) T2==READY && R1==FREE && R2==FREE (TZRUN)  |Task, READY
Task;:RUN ChainTask(T2) 9==SUS && R1==FREE && R2==FREE (TZRUN)  |Task;:SUS
Task;:RUN ChainTask(T2) FALSE - Task;:SUS
Tasky:SUS ActivateTask(T2)  |T1==SUS && R1==FREE && R2==FREE Null Task;RUN
Tasky:SUS ActivateTask(T2)  |FALSE (T2 READY) | Task;:RUN
Task,:SUS ActivateTask(T2) ==RUN || (R1==0CC || R2==0CC) Null Task,;READY
Task,:RUN TerminateTask(T2)  |T1==SUS && R1==FREE && R2==FREE Null Task,:SUS
Task,:RUN TerminateTask(T2) ==READY && R1==FREE && R2==FREE (T1RUN) |Tasky:SUS
TaskyRUN ChainTask(T2) T1==SUS && R1==FREE && R2==FREE Null TaskyRUN
TaskyRUN ChainTask(T2) T1==READY && R1==FREE && R2==FREE (TIRUN) |TaskyREADY
TaskyRUN ChainTask(T1) ==SUS 8& R1==FREE && R2==FREE (TI,RUN) |Tasky:SUS
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